The graph shows the vertical reaction force of the shoe-ground interaction as a function of time. The first peak acts on the heel, and the second peak acts on the forefoot. Determine the total impulse acting on the shoe during the interaction.

Solution:
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Impulse: 
 The total impulse acting on the shoe can be obtained by evaluating the area under the F-t graph.

[image: image3.png](600)[25(107%)] + 2(500 + 600)(50 — 25)(1073




)

[image: image4.png]+%(500 +750)(100 - 50)(107%) + %(750) [200— 100](107%)]




[image: image5.png]= 90.0 lbs




